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The Grossly Problematic Gross 
Domestic Product 

[first published at LewRockwell.com on July 28, 2010] 

There might be many other valid concerns about the concept of Gross Domestic Product, but the 
perhaps most acute one is that one particular component of the Gross Domestic Product (GDP) 
remains on a net basis. How about that, such a widely used and supposedly gross measure has 
a mix of gross and net components! There can’t be any logical justifications for that at all. 
Obviously, a net measure should only have net components and a gross measure only have 
gross components, but mixing gross and net terms seems completely illogical and inconsistent.  

Regardless of whether you are an experienced analyst, a student or a complete layman, you 
simply have to be aware of this. And if you read on, you will learn of an alternative gross 
measure, including some real numbers and a new analytical tool as well as the explosion of a 
major popular myth. 

The Net Term and Avoiding Gross Mistakes 

The definition of GDP is (we leave exports/imports out for now): 

 GDP = C + I + G   (1) 

where C is private consumption expenditure, I is gross investment expenditure and G is 
government consumption expenditure. The ‘I’ component in turn is defined as: 

 I = gross investments in fixed assets + net investment in inventories and work-in-progress  (2) 

Her lies the problem and inconsistency; one gross and one net investment component added 
together to form a ‘gross’ investment component. There is of course no logical validity in mixing 
gross and net terms like that, as already mentioned. But because of the wide usage of GDP and 
the risk of drawing wrong conclusions if you base them on illogical input, we better figure out 
how to adjust for this. 

Let’s start having a look at the Net Domestic Product (NDP): 

 profits + wages = NDP = C + Inet + G  (3) 

where Inet is the net investments. (3) simply states that net income in the left-hand-side equals 
net expenditure on the right-hand-side. Note that in NDP, there are no gross components, 
making it logically consistent.  
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If we are looking for a proper gross measure, we need to add things on both sides of (3), i.e. 
both the left-hand income side and the right-hand expenditure side, in order to maintain the 
equality. Specifically, we need to add to the profits on the left-hand-side and net investments on 
the right-hand-side (It’s generally assumed that wage income on the left-hand-side and the 
consumptions expenditure on the right-hand-side don’t involve any accruals or capitalization, 
thus making the net and gross amounts equal). 

The gross income measure corresponding to profits is sales revenue, or turnover, since: 

 profits = sales revenue – costs (4) 

The corresponding gross income of the net investment is productive expenditure, since: 

 net investment = productive expenditure – costs (5) 

where the productive expenditure (B) is all expenditure made by companies, including (i) gross 
investments on fixed asset, (ii) gross investments in inventories and work-in-progress as well as 
(iii) current expenditure. An example of the first is the amount spent on building a new factory 
started and finished within that year. An example of the first is the amount spent on building a 
new factory started and finished within that year. Examples of the second are the amount spent 
on computer software and on wages and inputs for products to be your future sales. An example 
of the third would be stationary or travel expenses. The corresponding costs would be 
categorized either as (i) depreciation (of fixed assets), (ii) cost-of-goods-sold (from the 
inventories or work-in-progress) or (iii) current expenses (exactly the same as the expenditure 
itself). 

(The perhaps most ingenious part is figuring out (5). Note that current expenditure are 
expenditure that is accounted for as costs within the same year, i.e. no capitalization or accruals 
involved, and should definitely not be part of the net investments, but since these are included 
in both terms on the right-hand-side of equation (5) they don’t affect the net investment amount 
on the left-hand-side of (5). Also note that it would perhaps be slightly misleading to call the 
‘productive expenditure’ ‘gross investment’, since part of it never will become net investment. 
Hence, I follow Reisman (1996) and use ‘productive expenditure’.) 

We see from (4) that the difference between sales and profit are the costs and that from (5) 
that the difference between productive expenditure and net investments also is the same costs. 
Now we know enough in order move from NDP to a gross level. Starting again with (3), we add 
costs according to (4) to the left-hand-side and the same costs to the right-hand-side according 
to (5): 

 (profits + costs) + wages = NDP = C + ( Inet + costs )+ G (6) 

Then we get: 

 sales revenue + wages = GDR = C + B + G (7) 

The sum we can call Gross Domestic Revenue (GDR), in line with George Reisman (see especially 
pp. 609-708 of his Capitalism – A Treatise On Economics1). 
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This is by far the best summary of the overall income and expenditure I have found, but there 
are some other examples around. It’s a gross measure that contains only gross components and 
is solidly based on well accepted national and business accounting principles. And here’s a bonus 
– it’s fairly straight-forward to compute based on existing statistics. 

Example – US GDR 1997-2008 

To calculate GDR for the US, we rely on numbers available online from BEA (www.bea.gov). NDP 
numbers are easy to find but we also need numbers on Gross Output (i.e. domestic sales 
revenue) from the Input-Output tables, as well as profits. In order to end up with GDR, we want 
to add total business costs to NDP – so we can take sales revenue, deduct profits and then add 
the corresponding costs to NDP. That’s enough to calculate GDR: 

 1997 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 

NDP 7368.6 7772.9 8259.1 8767.2 9029.9 9337.3 9788.1 10435 11097 11738.2 12317.6 12594.3 

Sales 14862.9 15987.4 17017.4 18305.7 18576.5 18874.2 19829.4 21265.8 23073.6 24481.2 25689.6 26574.4 

Profits  884.8 812.4 856.3 819.2 784.2 872.2 977.8 1246.9 1456.1 1608.3 1541.7 1360.4 

GDR 21346.7 22947.9 24420.2 26253.7 26822.2 27339.3 28639.7 30453.9 32714.5 34611.1 36465.5 37808.3 

Voilá, now we have calculated GDR. Unfortunately, the numbers for 2009 aren’t all available at 
this time. 

The Size of Gross Spending 

Next, let’s make a comparison between NDP, GDP and GDR from various perspectives, learning 
some new facts and also exploding a major and extremely common myth. Because of the net 
term in GDP, most of the gross business expenditure during a year is left out. GDR is in fact out-
sizes GDP by a factor 2.6 for the US in 2008. That’s a major difference on any scale.  

NDP vs GDP vs GDR 
Billion USD 2008

NDP $7,369
GDP $8,332

GDR $21,347
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How come people miss out on most of the gross business revenue and expenditure when trying 
to measure gross income or expenditure? Well, this problem was present already in J.E. Meade 
and R. Stone’s 1941 seminal article on the subject, Expenditure, Savings and Investment, 
appearing in The Economic Journal, vol.51 (1941), pp. 216-233. In this article, Meade and Stone 
outlined what later became the UN standard on aggregate accounting. In that article they deal 
mostly with the net national product, but there is a short passage where they claim that 
“depreciation, renewals, repairs, etc” should be added to net investment to reach the gross 
investment. Thus, the problem has been there from the start. Meade and Stone simply didn’t get 
this part right, they missed out on all the gross spending on inventories and work-in-progress, i.e. 
the major part of business expenditure (interestingly, Stone was later awarded the Bank of 
Sweden Prize in Economic Sciences in Memory of Alfred Nobel for his “fundamental contributions 
to the development of national accounts”, and also Meade was later awarded the Nobel Prize). 

But why does the GDP measure still appear relevant, despite being so wrong? Well, one reason 
could be that it’s not very far from being NDP, and NDP has some importance. So most studies 
based on NDP might do just as well using NDP, but that empirics I leave to you. 

What about the issue of double-counting? Well, that’s a real hobby horse of armchair economists. 
Try to tell a business person that just invested $100,000 on fixed assets and another $100,000 
on input for goods that his gross spending only was $100,000, and ask if s/he agrees. And ask 
the other business person if he just received $200,000 or only $100,000 in revenue. I can 
understand that someone that never has spent time in doing business, like some arm-chair 
professors or some young students, can make the double-counting claim, but that doesn’t make 
it a valid claim. For a more formal refutation of that silly idea, please have a look at Reisman’s 
"The Value of 'Final Products' Counts Only Itself: Today's Gross Product is Net Product"2. 

Finally, sometimes you see comparisons between the turnovers of large multinational companies 
to the GDP of countries. Well that’s like comparing net and gross, since GDP is very close to a 
purely net level while the turnover is a measure of gross sales. On the other hand, comparing 
the gross sales revenue to GDR might be more justified, if still interesting.  

Exploding Myth – The Consumption-Driven Economy 

One of the greatest myths of our time, so counter-intuitive and yet so appealing, is that we 
become wealthy by consuming, not only as a whole country or whole world, but also as families 
and individuals. So most official policies today are directed to promoting mindless consumerism 
or wasteful government programs (all of them really to be categorized as consumption). And 
borrowing is no problem as long at the money is spent quickly on consumption, the mantra 
seems to be for government officials all over the world today. And people that want to pretend 
to be smart repeat the mantra, often with bad consequences for their personal finances. 

To eat the seed corn might be a very simple thing to do, but in fact it’s rather simplistic. The 
more of the seed corn you eat, the less will you will have in the future. So even though 
completely counter-intuitive, crazy theories like this have been raised to science by people and 
organizations that benefit from such theories. The biggest benefactor of this is the government 
itself, since almost all of its activities fall into that category. All the time it has to raise more 
money through other means since very little of its goods and services are paid for or even worth 
paying for if it wasn’t for the monopoly status.  
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Anyhow, this silly idea is actually gets strong support by the use of the illogical GDP measure, 
since private consumption according to GDP is more than 2/3 of overall spending and 
government spending another 2/10 or so in many developed countries. The US numbers for 
2008 are 70.1% and 20.0%, a massive 90.1%. So even the most critical student or person have 
trouble arguing against more consumption expenditure if basing the argument on GDP or trying 
to get around it at all.  

However, once we relate private and government expenditure to GDR a totally different picture 
emerges. Suddenly we see the vast majority of spending during a year is in fact made as 
investments on everything from fixed assets, inventories and work-in-progress by various 
businesses. In the US in 2008, 67.5% was productive expenditure, while ‘only’ 26.8% and 7.6% 
was private and government expenditure, respectively. 

Gross Domestic Product 2008 
Billion USD 14,441.4
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Gross Domestic Revenue 2008
Billion USD 26,574.4 
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Note: The net exports were actually negative in 2008, but show up in the diagrams as positive, 

but that doesn’t affect the conclusions since the overall amounts are relatively small. 

So by the use of GDR, we can also explode the myth that a country can be consumption-driven. 
Only in a parallel reality of mathematical modeling where cause and effect doesn’t exist can 
someone come up with the idea that statistical aggregates are ‘driven’ by something.  Saying 
that you become rich by more consumer demand is to reverse things in a very bad way. The 
more a country produces, the more it can consume. Everything that is produced will eventually 
be consumed, as Say’s law states, because the goods already produced create their own 
demand by being available for exchange. That is rather intuitive.  

Now you have the facts to blow up the idea of Keynesian Konsumerism. 

Emphasis on Production Instead of Consumption 

But while all of this might be true, accepting it after this short paper might not be that easy. In 
order to give you some further convincing food for thought, I will also introduce you to a 
concept I used the first time in 2005 called the Relative Expenditure Ratio (RER) (see primarily 
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Deflation and Japan Revisited3). This ratio relates the productive expenditure to the expenditure 
made on consumption. Defining the RER as the ratio between the [B+NX] expenditure and the 
[C+G] expenditure, the change in RER is given by the next diagram (change on the left-hand 
axis).  

In the diagram, I have also included the changes in GDR and GDP (right axis). Interestingly, the 
changes in RER coincide with the changes in the overall level of GDR expenditure to a very large 
extent. Thus, whenever more spending is directed towards production relative the expenditure 
on consumption, the overall amount of spending is also growing. The more the more one spends 
on production, the more the total spending grows, and hence also the ability to consume.  

 

Changes in RER (left axis) and GDR and GDP (right)
US 1998 - 2008
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Please note that there is no circular reasoning here, no dependent variable, since there is 
nothing that logically says that the relation between the parts of the whole has to have anything 
to do with the change in size of the whole itself.  

If growth is an overall aim, then this has clear implications. Focus should in that case be on 
finding good policies for leaving businesses to expand their productive operations instead of 
trying to stimulate various kinds of consumption. 

Since RER is based on GDR and not on GDP, the usefulness of RER could be seen as yet another 
argument in favor of the use of GDR over GDP. I’ve included figures on GDP change just to show 
how the changes in RER seem to predict changes in GDP as well, probably best explained by the 
fact that GDP is very similar to NDP. 

I have also included a diagram comparing changes in RER to profits, and also in this case we can 
see a rather high correlation where changes in profit seem to precede changes in RER. It seems 
perfectly natural that business change their spending quicker than people change their 
consumption, this is a well-known fact. When profits are shrinking, this is taken as a signal by 
businesses to cut productive spending. Even though such cut backs might create less room for 
private and government consumption spending as well, the productive expenditure is a much 
larger amount, thus the following fall in RER. And when profits are on the rise, businesses spend 
more and RER rises, thereby likely making more room for consumption as well.  



 

 

 
www.richardcbjohnsson.net 

FINANCE & ECONOMICS   -   PANARCHY   -   OPINION 
Copyright © 2010 Richard Johnsson. Permission to reprint in whole or in part is gladly granted, provided full credit is given. 

7 

Also note that since a business can earn profits from both intermediate sales (i.e. other 
companies’ productive expenditure) and consumption, there is very little circular reasoning in 
this case as well.  

Changes in RER (left axis) and Profits (right)
US 1998 - 2008
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Finally, let me note that RER and its two parts could also be compared with industrial production, 
consumer and producer prices and sales revenue with interesting results (see primarily Deflation 
and Japan Revisited4 based on Japanese national accounts, but also Why the GDP Shows No 
Bust, but GDR Does5 based on BEA numbers. There’s also work in Swedish based on Swedish 
national accounts available upon request.). 

Concluding remarks 

There’s certainly something grossly problematic about the Gross Domestic Product, and I hope I 
at least have been able to sow some seeds of agreement on that. I also hope to hear less about 
silly ideas like a consumption-driven economy, since GDR help us to realize that there are no 
such things. Keynesian Konsumerism is a fake. I also hope that the introduction of the Relative 
Expenditure Ratio might spur people to use this concept for analyzing growth, profits and many 
other things, as I know some professional analysts are already doing. 
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